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LIFE PROCESSES IN LIVING
ORGANISMS: PART-2

1. Which are the important life processes in

living organisms ?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GG6SM0aUNtxX

° Watch Video Solution

2. Which life processes are essential for

production of energy requied by body ?

o Watch Video Solution

3. Which are main types of cell-division? What

are the differences ?

° Watch Video Solution



https://dl.doubtnut.com/l/_GG6SM0aUNtxX
https://dl.doubtnut.com/l/_PGlM0hYkkgOv
https://dl.doubtnut.com/l/_Btz4gXC3uQ2G
https://dl.doubtnut.com/l/_LR5s3fS8kzTX

4. What is the role of chromosomes in cell-

division ?

o Watch Video Solution

5. Observe the pictures and tell the life

process which are identified.


https://dl.doubtnut.com/l/_LR5s3fS8kzTX
https://dl.doubtnut.com/l/_wpwNr8V5fDwA

o Watch Video Solution

6. What do we mean by maintenance of

species ?

° Watch Video Solution



https://dl.doubtnut.com/l/_wpwNr8V5fDwA
https://dl.doubtnut.com/l/_aVsU1DF1lQiM

7.Whether new organism is genetically exactly

similar to earlier one that has produced it ?

° Watch Video Solution

8. Who determines whether the two
organisms of a species will be exactly similar

or not ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Cag6aXmhBUls
https://dl.doubtnut.com/l/_OSnuaUSWK0eu

9. What is the relationship between cell
division and formation of new organism of

same species by earlier existing organism ?

o Watch Video Solution

10. Lets think.
What would have happened if the male and

female gametes had been diploid ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Vxx4MP0oFnuz
https://dl.doubtnut.com/l/_kpk9kUSucUYm
https://dl.doubtnut.com/l/_dSGytERHkLHB

11. What would have happened if any of the
cells in nature had not been divided by

meiosis ?

o Watch Video Solution

12. Which different hormones control the
functions of human reproductive system

through chemical coordination ?

o Watch Video Solution



https://dl.doubtnut.com/l/_dSGytERHkLHB
https://dl.doubtnut.com/l/_83xIOKZSgjc7
https://dl.doubtnut.com/l/_pQevKzFl2sME

13. Which hormones are responsible for
changes in human body occurring during on

set of sexual maturity ?

o Watch Video Solution

14. Why has the Government of India enacted
the law to fix the minimum age of marriage as

18 in girls and 21in boys?

o Watch Video Solution



https://dl.doubtnut.com/l/_pQevKzFl2sME
https://dl.doubtnut.com/l/_M8wBdO26LsGa

15. Which hormone is released from pituitary
of mother once the fetal development is

completed ?

o Watch Video Solution

16. Under the effect of that hormone, which
organ of the female reproductive system
starts to contract and there by birth process (

Parturition ) is facilitated ?

° Watch Video Solution



https://dl.doubtnut.com/l/_POi6RAyTVSPw
https://dl.doubtnut.com/l/_2IGjW4SxXl0G

1. Choose the correct alternative and write

that alphabet against the sub-question
number:

In humans, sperm production occurs in the

A. prostate gland

B. testis

C. ovaries


https://dl.doubtnut.com/l/_2IGjW4SxXl0G
https://dl.doubtnut.com/l/_7Pwf9Pe3b2gO

D. Cowper's gland

Answer: B

° Watch Video Solution

2. Choose the correct alternative and write
that alphabet against the sub-question
number:

In humans,.....chromosome is responsible for

maleness.

A X


https://dl.doubtnut.com/l/_7Pwf9Pe3b2gO
https://dl.doubtnut.com/l/_RuSuSYupjYc9

B.Y

C.Z

D.O

Answer: B

o Watch Video Solution

3. Choose the correct alternative and write
that alphabet against the sub-question
number:

Implantation of embryo occurs in..........


https://dl.doubtnut.com/l/_RuSuSYupjYc9
https://dl.doubtnut.com/l/_lbGjAfzNP0L3

A. ovaries

B. fallopian duct

C. uterus

D. vagina

Answer: C

o Watch Video Solution

4. Choose the correct alternative and write
that alphabet against the sub-question

number:


https://dl.doubtnut.com/l/_lbGjAfzNP0L3
https://dl.doubtnut.com/l/_YfumMa19JN74

Body breaks up into several fragments and
each fragment begins to live as a new
individual. This is ......type of reproduction.
regeneration

fragmentation

binary fission

budding

A.regeneration

B. fragmentation

C. binary fission

D. budding


https://dl.doubtnut.com/l/_YfumMa19JN74

Answer: B

o Watch Video Solution

5. Choose the correct alternative and write
that alphabet against the sub-question
number:

Pranav and Pritee are twins in your class. They
belong to ....twins type.

1 monozygotic

2 dizygotic


https://dl.doubtnut.com/l/_YfumMa19JN74
https://dl.doubtnut.com/l/_JhlYjMNz8T5D

3 siamese

4 none of the above

A. monozygotic

B. dizygotic

C.slamese

D. none of the above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JhlYjMNz8T5D

6. Choose the correct alternative and write
that alphabet against the sub-question
number:

Lognitudinal binary fission is seen is.....

1 Paramoecium

2 Euglena

3 Amoeba

4 Spirogyra

A. Paramoecium

B. Euglena

C. Amoeba


https://dl.doubtnut.com/l/_ETpZLbp5j8ma

D. Spirogyra

Answer: B

° Watch Video Solution

7. Choose the correct alternative and write
that alphabet against the sub-question
number:

Yeast cell performs asexual reproduction by......

A. fragmentation


https://dl.doubtnut.com/l/_ETpZLbp5j8ma
https://dl.doubtnut.com/l/_BAy2JAJrt5Yp

B. budding

C. binary fission

D. regeneration

Answer: B

o Watch Video Solution

8. Choose the correct alternative and write
that alphabet against the sub-question

number:


https://dl.doubtnut.com/l/_BAy2JAJrt5Yp
https://dl.doubtnut.com/l/_G7gK4IdiJohi

Carrot and raddish undergoes....with the help

of their roots.

A. Vegetative propagation

B. fragmentation

C. budding

D. regeneration

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_G7gK4IdiJohi

9. Choose the correct alternative and write
that alphabet against the sub-question
number:
Which of the following is not a type of asexual
reproduction in multicellular organism?

A. fragmentation

B. Regeneration

C. Budding

D. Binary fission

Answer: D


https://dl.doubtnut.com/l/_sy4YOfYgq5QA

° Watch Video Solution

10. Choose the correct alternative and write
that alphabet against the sub-question
number:

At the time of birth, there are ....oocytes in the
ovary of a female foetus.

1) 1to 2 million

2) 2 to 3 million

3) 2 to 4 million

4) none of these


https://dl.doubtnut.com/l/_sy4YOfYgq5QA
https://dl.doubtnut.com/l/_JfYLc2HWpVP2

A.1to 2 million

B. 2 to 3 million

C.2 to 4 million

D. none of these

Answer: C

o Watch Video Solution

11. Choose the correct alternative and write
that alphabet against the sub-question

number:


https://dl.doubtnut.com/l/_JfYLc2HWpVP2
https://dl.doubtnut.com/l/_uOZVcRUF6dOr

........ on the inner surface of fallopian
ducts(oviducts) push the egg towards uterus.
1)Cilia

2)Tentacles

3)Flagella

4)Fibres

A. Cilia

B. Tentacles

C. Flagella

D. Fibres

Answer: A


https://dl.doubtnut.com/l/_uOZVcRUF6dOr

° Watch Video Solution

12. Choose the correct alternative and write
that alphabet against the sub-question
number:

Pregnant mother supplies nourishment to her

foetus through.......

A. breasts

B. uterus

C. placenta


https://dl.doubtnut.com/l/_uOZVcRUF6dOr
https://dl.doubtnut.com/l/_ky4hLOoEPNmF

D. ovaries

Answer: C

° Watch Video Solution

13. Choose the correct alternative and write
that alphabet against the sub-question
number:

......... modern remedial technique is used if
there is a problem in implantation of embryo

in the uterus.


https://dl.doubtnut.com/l/_ky4hLOoEPNmF
https://dl.doubtnut.com/l/_muM4wF0Ir7wo

A. Surregacy

B. Sperm bank

C. In vitro fertilization

D. none of these

Answer: A

o Watch Video Solution

14. Choose the correct alternative and write

that alphabet against the sub-question


https://dl.doubtnut.com/l/_muM4wF0Ir7wo
https://dl.doubtnut.com/l/_IDR8qJu1llmY

number:

The length of a sperm is about.....micrometers.

A. 400

B.5

C.60

D. 600

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IDR8qJu1llmY

15. Choose the correct alternative and write
that alphabet against the sub-question
number:

Vegetative propagation is performed with the
help of.....in sweet potato.

1) root

2) stem

3) leaf

4)flower

A. root

B. stem


https://dl.doubtnut.com/l/_sodRneQcCbJI

C. leaf

D. flower

Answer: A

o Watch Video Solution

16. Choose the correct alternative and write
that alphabet against the sub-question
number:

....... type of reproduction occurs without fusion

of gametes.


https://dl.doubtnut.com/l/_sodRneQcCbJI
https://dl.doubtnut.com/l/_n3Rw21yE8k0d

A. Asexual

B. Sexual

C. Fertilization

D. Gamete formation

Answer: A

o Watch Video Solution

17. Pollen grains are formed by meiotic division

in locules of anthers.


https://dl.doubtnut.com/l/_n3Rw21yE8k0d
https://dl.doubtnut.com/l/_TNzCdcvVbEdS

A. meiosis

B. mitosis

C. amitosis

D. binary

Answer: A

o Watch Video Solution

18. Choose the correct alternative and write
that alphabet against the sub-question

number:


https://dl.doubtnut.com/l/_TNzCdcvVbEdS
https://dl.doubtnut.com/l/_26xCTn3tUffl

In male and female reproductive system of

human........... gland is same.

° Watch Video Solution

19. Write whether the following statements
are true or false, with the suitable reason:

Absence of genetic recombination is an
advantage whereas fast process is drawback of

asexual reproductive method.

° Watch Video Solution



https://dl.doubtnut.com/l/_26xCTn3tUffl
https://dl.doubtnut.com/l/_Z0lB7HiZrZbN
https://dl.doubtnut.com/l/_XqcNFNhRO7gK

20. Write whether the following statements
are true or false, with the suitable reason:
Prokaryotes show fission which occurs either

by mitosis or amitosis.

° Watch Video Solution

21. Write whether the following statements
are true or false, with the suitable reason:
During favourable conditions multiple fission

is performed by amoeba.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_XqcNFNhRO7gK
https://dl.doubtnut.com/l/_lJqZAhyphYin

22. Write whether the following statements
are true or false, with the suitable reason:
Any encysted amoeba or any other protist is

called 'Cyst'.

° Watch Video Solution

23. Write whether the following statements
are true or false, with the suitable reason:

If the body of Sycon breaks up accidentally


https://dl.doubtnut.com/l/_lJqZAhyphYin
https://dl.doubtnut.com/l/_O4miCz1MB6I3
https://dl.doubtnut.com/l/_BY5UNu66zaqD

into only large and few fragment develops

into new Sycon.

° Watch Video Solution

24. Write whether the following statements
are true or false, with the suitable reason:

Pollen tube reaches the zygote via style.

° Watch Video Solution



https://dl.doubtnut.com/l/_BY5UNu66zaqD
https://dl.doubtnut.com/l/_7i9peTnkLzk0

25. Write whether the following statements
are true or false, with the suitable reason:

There is glucose sugar in the semen.

o Watch Video Solution

26. Write whether the following statements
are true or false, with the suitable reason:

Out of 2-4 million ova, approximately only 400
oocytes are released up to the age of

menopause.

| & I


https://dl.doubtnut.com/l/_GYIn4ShzHPzs
https://dl.doubtnut.com/l/_2Vb23ZlkkmJG

| ¥ Watch Video Solution |

27.Find the odd out:

Circulation, Excretion, Sensation Reproduction.

o Watch Video Solution

28.Find the odd out:
Budding in hydra, Regeneration, Binary fission,

Fragmentation

o Watch Video Solution



https://dl.doubtnut.com/l/_2Vb23ZlkkmJG
https://dl.doubtnut.com/l/_YzCvk9haSJOZ
https://dl.doubtnut.com/l/_csUuuxV6mIkd

29. Find the odd out:

Carrot, Raddish, Potato, Sweet potato.

o Watch Video Solution

30. Find the odd out:
Vas eferens, vas deferens, prostate gland,

epididymis.

o Watch Video Solution



https://dl.doubtnut.com/l/_21Iu13ygHVgs
https://dl.doubtnut.com/l/_J43s8Hn8mQVe

31. Find the odd out:
Prostate gland, Bartholin's gland, Cowper's

gland, Epididymis.

o Watch Video Solution

32. Find the odd out:

Stigma, style, pollen, ovary.

o Watch Video Solution



https://dl.doubtnut.com/l/_lcpqFcvF8Sy3
https://dl.doubtnut.com/l/_HCNoYAoT8WAZ

33. Identify the correction between the first
two words and suggest the suitable words in
the fourth place:

Amoeba: Fission::Hydra:.........

° Watch Video Solution

34. Transverse binary fission : Paramoecium

: : Longitudinal binary fission :

o Watch Video Solution



https://dl.doubtnut.com/l/_qfFRP4ahZjxN
https://dl.doubtnut.com/l/_L0rKl2Ah3gjr
https://dl.doubtnut.com/l/_zV1xjkOBIIbE

35. Identify the connection between the first
two words and suggest the suitable words in

the fourth place:

o Watch Video Solution

36. Identify the correction between the first
two words and suggest the suitable words in
the fourth place:

Accessory whorls: Calyx and Corolla.........

o Watch Video Solution



https://dl.doubtnut.com/l/_zV1xjkOBIIbE
https://dl.doubtnut.com/l/_enES8FPandn2

37. Identify the correction between the first
two words and suggest the suitable words in
the fourth place:

Bisexual flower: Hibiscus:: Unisexual flower-:.........

o Watch Video Solution

38. Identify the correction between the first

two words and suggest the suitable words in


https://dl.doubtnut.com/l/_enES8FPandn2
https://dl.doubtnut.com/l/_aXsDvSoOV2Vt
https://dl.doubtnut.com/l/_nualAnt6Ggsu

the fourth place:

° Watch Video Solution

39. Identify the correction between the first
two words and suggest the suitable words in
the fourth place:

Spirogyra: Fragmentation::Planaria..............

o Watch Video Solution



https://dl.doubtnut.com/l/_nualAnt6Ggsu
https://dl.doubtnut.com/l/_MVcdu9b62CQg

40. Define the following/Give meaning of the
following:

Budding in yeast:

o Watch Video Solution

41. Define the following/Give meaning of the
following:

Budding in hydra:

o Watch Video Solution



https://dl.doubtnut.com/l/_uTvdN9ZClw33
https://dl.doubtnut.com/l/_6ulZr9Ocvbdh
https://dl.doubtnut.com/l/_CedZTjQe7Es7

42. Define the following/Give meaning of the
following:

Regeneration:

o Watch Video Solution

43. Define the following/Give meaning of the
following:

Fragmentation:

o Watch Video Solution



https://dl.doubtnut.com/l/_CedZTjQe7Es7
https://dl.doubtnut.com/l/_O0yvuM7yTlRZ
https://dl.doubtnut.com/l/_1mnREOdKsNfs

44, Define the following/Give meaning of the
following:

Vegetative propagation:

o Watch Video Solution

45. Define the following/Give meaning of the
following:

Fertilization:

o Watch Video Solution



https://dl.doubtnut.com/l/_1mnREOdKsNfs
https://dl.doubtnut.com/l/_OEAZbBuhZhEe

46. Define the following/Give meaning of the
following:

Pedicel:

o Watch Video Solution

47. Define the following/Give meaning of the
following:

Pollination:

o Watch Video Solution



https://dl.doubtnut.com/l/_Qj3kR9thmc1g
https://dl.doubtnut.com/l/_6gjnri14CzRk
https://dl.doubtnut.com/l/_ilRSAMwcSYL7

48. Define the following/Give meaning of the
following:

Self-pollination:

o Watch Video Solution

49, Define the following/Give meaning of the
following:

Cross pollination:

o Watch Video Solution



https://dl.doubtnut.com/l/_ilRSAMwcSYL7
https://dl.doubtnut.com/l/_I0zw2Snh4Mi3
https://dl.doubtnut.com/l/_VL57oYol1alp

50. Define the following/Give meaning of the
following:

Endosperm:

o Watch Video Solution

51. Define the following/Give meaning of the
following:

Embryo sac:

o Watch Video Solution



https://dl.doubtnut.com/l/_VL57oYol1alp
https://dl.doubtnut.com/l/_penVVzUd2Vkd

52. Define the following/Give meaning of the
following:

Menopause:

o Watch Video Solution

53. Define the following/Give meaning of the
following:

Placenta:

o Watch Video Solution



https://dl.doubtnut.com/l/_gdPa0LxrGm7E
https://dl.doubtnut.com/l/_kz5PR7Xrwd8l
https://dl.doubtnut.com/l/_GXhjS5nqYdke

54. Define the following/Give meaning of the
following:

IVF:

o Watch Video Solution

55. Define the following/Give meaning of the
following:

Corpus luteum:

o Watch Video Solution



https://dl.doubtnut.com/l/_GXhjS5nqYdke
https://dl.doubtnut.com/l/_MF69LDkFFyNA
https://dl.doubtnut.com/l/_jEZCxEW6aqH9

56. Define the following/Give meaning of the
following:

Corpus albicans

o Watch Video Solution

57. Define the following/Give meaning of the
following:

ovulation:

o Watch Video Solution



https://dl.doubtnut.com/l/_jEZCxEW6aqH9
https://dl.doubtnut.com/l/_ozMCxBWVkCsI

58. Define the following/Give meaning of the
following:

IVF:

o Watch Video Solution

59. Define the following/Give meaning of the
following:

Sperm bank:

o Watch Video Solution



https://dl.doubtnut.com/l/_bmrnPblkPEXn
https://dl.doubtnut.com/l/_bZonzHK2rBVZ
https://dl.doubtnut.com/l/_wJDC2DjuW4fI

60. Hormones related with malle reproductive

system.

° Watch Video Solution

61. Name the following/Given the names:
Different glands associated with male

reproductive system.

° Watch Video Solution



https://dl.doubtnut.com/l/_wJDC2DjuW4fI
https://dl.doubtnut.com/l/_KjJ24jRPhgNr

62. Name the following/Given the names:

Agents of pollination.

o Watch Video Solution

63. Name the following/Given the names:

Components of semen:

o Watch Video Solution



https://dl.doubtnut.com/l/_pzIUrajW3YbM
https://dl.doubtnut.com/l/_G4UuObk1qVo3

64. Hormones secreted by ovary of female

reproductive system.

o Watch Video Solution

65. Name the following/Given the names:

Two accessory whorls in flower.

o Watch Video Solution



https://dl.doubtnut.com/l/_HmWwS0UObmtv
https://dl.doubtnut.com/l/_N28fnIBNLeOL

66. Name the following/Given the names:

Two essential whorls in flower.

o Watch Video Solution

67. Types of twins.

o Watch Video Solution

68. Name the following/Given the names:

The modern techniques in reproduction.



https://dl.doubtnut.com/l/_pN7Nr0CnPWH2
https://dl.doubtnut.com/l/_dMao4bfTJuy2
https://dl.doubtnut.com/l/_Tp56INBrUCDM

o Watch Video Solution

69. Name the following/Given the names:

Any two sexual diseases.

o Watch Video Solution

70. Name the following/Given the names:

Symtoms of gonorrhoea.

o Watch Video Solution



https://dl.doubtnut.com/l/_Tp56INBrUCDM
https://dl.doubtnut.com/l/_1VvAMNlG5g1M
https://dl.doubtnut.com/l/_9umygdOCGTBh
https://dl.doubtnut.com/l/_KjsGbWbrNjFj

71. Name the following/Given the names:

Symptoms of syphilis.

o Watch Video Solution

72. Methods of family planning.

o Watch Video Solution

73. Answer in one sentence:

What is gamete formation?

| &


https://dl.doubtnut.com/l/_KjsGbWbrNjFj
https://dl.doubtnut.com/l/_cSU8Iu9MkF2n
https://dl.doubtnut.com/l/_dQs0cPAvWQqP

| ¥ Watch Video Solution

74. Answer in one sentence:

How are the sperms formed?

° Watch Video Solution

75. Answer in one sentence:

How is the semen produced?

o Watch Video Solution



https://dl.doubtnut.com/l/_dQs0cPAvWQqP
https://dl.doubtnut.com/l/_bEOW6Ut31Krj
https://dl.doubtnut.com/l/_P3IHRxODAakm
https://dl.doubtnut.com/l/_UPJ2DHTqzkwP

76. Answer in one sentence:
Which parts are converted into seed and fruit

respectively after fertilization?

o Watch Video Solution

77. Answer in one sentence:

What does germination mean?

° Watch Video Solution



https://dl.doubtnut.com/l/_UPJ2DHTqzkwP
https://dl.doubtnut.com/l/_xKxXhkf27Jkk

78. Answer in one sentence:
Write the name of the type of reproduction in

the following figure.

° Watch Video Solution



https://dl.doubtnut.com/l/_GesBbRohcizV

79. Write the function of the following organs:

Sporangium.

o Watch Video Solution

80. Write the function of the following organs:

Calyx.

° Watch Video Solution



https://dl.doubtnut.com/l/_GesBbRohcizV
https://dl.doubtnut.com/l/_xpJIh74cqQ8Y
https://dl.doubtnut.com/l/_nTWuevQiuUSt

81. Write the function of the following organs:

Corolla.

o Watch Video Solution

82. Write the function of the following organs:

Androecium.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZBXtcDlbHudS
https://dl.doubtnut.com/l/_t85Mlh4w98JV

83. Write the function of the following organs:

Gynoecium.

o Watch Video Solution

84. Write the function of the following organs:

Endosperm.

o Watch Video Solution



https://dl.doubtnut.com/l/_MufQ3N3RL7y8
https://dl.doubtnut.com/l/_1Y8QwctzQ5sX

85. Write the function of the following organs:

Testis.

o Watch Video Solution

86. Write the function of the following organs:

Scrotum.

o Watch Video Solution



https://dl.doubtnut.com/l/_UAu7LqhU1OLq
https://dl.doubtnut.com/l/_EAtQONVWGlWA

87. Write the function of the following organs:

Seminal vesicles.

o Watch Video Solution

88. Write the function of the following organs:

Penis.

o Watch Video Solution



https://dl.doubtnut.com/l/_ggU57NTxMazz
https://dl.doubtnut.com/l/_Ui3kGd5hqycq

89. Write the function of the following organs:

Ovary.

o Watch Video Solution

90. Write the function of the following organs:

Uterus.

o Watch Video Solution



https://dl.doubtnut.com/l/_8E0lSVr6Zn4W
https://dl.doubtnut.com/l/_3kRP63aZ9bnF

91. Write the function of the following organs:

Fallopian tubes/ducts.

° Watch Video Solution

92. Binary fission and Multiple fission

° Watch Video Solution

93. Distinguish between Human male and

Human female reproductive system.



https://dl.doubtnut.com/l/_P9zrZvSQlENj
https://dl.doubtnut.com/l/_CCURN28ZqxNS
https://dl.doubtnut.com/l/_Tz7AiVLq3Jaf

o Watch Video Solution

94. Distinguish between Monozyotic twins and

Dizygotic twins.

o Watch Video Solution

95. Give scientific reasons:
Flower is the structural unit of sexual

reproduction in plant.

o Watch Video Solution



https://dl.doubtnut.com/l/_Tz7AiVLq3Jaf
https://dl.doubtnut.com/l/_l6tU6emWqwFM
https://dl.doubtnut.com/l/_ZkZE74Vjuzqq

96. Give scientific reasons:

By the age of 45-50 women gets menopause.

o Watch Video Solution

97. Give scientific reasons:
Older mothers have greater chance of

conceiving abnormal children.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZkZE74Vjuzqq
https://dl.doubtnut.com/l/_OFTI0ANKLbhE
https://dl.doubtnut.com/l/_DleG8HI8KPtk
https://dl.doubtnut.com/l/_2a1MTTlOaE0w

98. Give scientific reasons:
Indians should follow family planning for

controlling the population.

o Watch Video Solution

99. Explain with example types of asexual

reproduction in unicellular organism.

° Watch Video Solution

100. Explain asexual reproduction in plants ?


https://dl.doubtnut.com/l/_2a1MTTlOaE0w
https://dl.doubtnut.com/l/_NBJbedJvYf7b
https://dl.doubtnut.com/l/_nXlC1fA5roiR

° Watch Video Solution

101. Answer the following questions in short:
How does reproductive take place in fungus

mucor?

° Watch Video Solution

102. Answer the following questions in short:

What is the type of asexual reproductive


https://dl.doubtnut.com/l/_nXlC1fA5roiR
https://dl.doubtnut.com/l/_iLm4siXnL9Ir
https://dl.doubtnut.com/l/_Eu5EYSfQjfNS

shown in the diagram below?

° Watch Video Solution

103. Answer the following questions in short:

Describe the structure of a flower.


https://dl.doubtnut.com/l/_Eu5EYSfQjfNS
https://dl.doubtnut.com/l/_y4pkXw8A4DpO

o Watch Video Solution

104. Explain sexual reproduction in plants.

o Watch Video Solution



https://dl.doubtnut.com/l/_y4pkXw8A4DpO
https://dl.doubtnut.com/l/_GqjL1ZM1Olk1

105. In case of sexual reproduction, newborn
shows similarities about characters. Explain

this statement with suitable examples.

o Watch Video Solution

106. Describe the male reproductive system.

o Watch Video Solution

107. Describe the female reproductive system.



https://dl.doubtnut.com/l/_UEv4N5UK3Gq1
https://dl.doubtnut.com/l/_hvkYtgoif4kf
https://dl.doubtnut.com/l/_jY0URvjsarMC

o Watch Video Solution

108. What is menstrual cycle ? Describe it in

brief.

o Watch Video Solution

109. Gender of child is determined by the male
partner of couple. Explain with reasons

whether this statement is true or false.

o Watch Video Solution



https://dl.doubtnut.com/l/_jY0URvjsarMC
https://dl.doubtnut.com/l/_TAof9IxFMTCs
https://dl.doubtnut.com/l/_pdwUsoWA2pY3

110. Answer the following questions in short:

"A couple shall have a male child or female
child totally depends upon husband." Prove
truthfulness of this statement with scientific

reason.

o Watch Video Solution

11. Modern techniques like surrogacy (

surrogate mother), sperm bank and IVF


https://dl.doubtnut.com/l/_pdwUsoWA2pY3
https://dl.doubtnut.com/l/_WUWxuGEl3NIw
https://dl.doubtnut.com/l/_oMrjI1dkd3Zb

technique will help the human beings. Justify

this statement.

° Watch Video Solution

112. Despite of various diagnostic test, a
couple could not have a child. In this

situtation, which remedies will you suggest ?

° Watch Video Solution



https://dl.doubtnut.com/l/_oMrjI1dkd3Zb
https://dl.doubtnut.com/l/_5PEDqTQfEuLT

113. Answer the following questions in short:
Explain the following concepts in shorts:

Surrogacy

o Watch Video Solution

114. Answer the following questions in short:
Explain the following concepts in shorts:

In vitro Fertilization (IVF)

o Watch Video Solution



https://dl.doubtnut.com/l/_9MofrK8f9lwL
https://dl.doubtnut.com/l/_0WnIyrumBzZn
https://dl.doubtnut.com/l/_ovkEVmP0jj2B

115. Answer the following questions in short:
Explain the following concepts in shorts:

Sperm Bank

o Watch Video Solution

116. Answer the following questions in short:

What problems cause infertility in couple?

° Watch Video Solution



https://dl.doubtnut.com/l/_ovkEVmP0jj2B
https://dl.doubtnut.com/l/_apflg9gQllC9

117. Explain the concept of IVF.

o Watch Video Solution

118. Answer the following questions in short:
Explain the term: Modern technology of

reproductive IVF.

o Watch Video Solution



https://dl.doubtnut.com/l/_wDEOD7KrpLh8
https://dl.doubtnut.com/l/_zHJCDkpB5om8

19. Which precaution will you follow to

maintain the reproductive health ?

° Watch Video Solution

120. In our country , there seems to be lack of

awareness regarding reproductive health. Why

?

° Watch Video Solution



https://dl.doubtnut.com/l/_5DDuYzligUbD
https://dl.doubtnut.com/l/_fAxJAgsIUFHo

121. Answer the following questions in short:

Write the symptoms of disease gonorrhea.

° Watch Video Solution

122. Answer the following questions in short:
What precautions will you take to maintain

reproductive health?

° Watch Video Solution



https://dl.doubtnut.com/l/_pp7IgeVdoo3G
https://dl.doubtnut.com/l/_JbMFQtU5cq55

123. Answer the following questions in short:

If a piece of bread is kept in a container in
moist place for 2-3 days,

Write scientific name and a character of the

organism you may observe.

o Watch Video Solution

124. Answer the following questions in short:
If a piece of bread is kept in a container in

moist place for 2-3 days,


https://dl.doubtnut.com/l/_f8xzXBvCMSGQ
https://dl.doubtnut.com/l/_6lUw3SEOKkcJ

Write scientific name and a character of the

organism you may observe.

° Watch Video Solution

125. Use your brain power.
Does the parent cell exist after asexual

reproduction-fission ?

° Watch Video Solution

126. Write short note on Multiple fission.


https://dl.doubtnut.com/l/_6lUw3SEOKkcJ
https://dl.doubtnut.com/l/_dF1gvnhLMot2
https://dl.doubtnut.com/l/_uyUGmTzRZk6V

° Watch Video Solution

127. Write short note on Regeneration.

° Watch Video Solution

128. Write short note on Seed germination.

° Watch Video Solution

129. Write a short note on Budding in Hydra.


https://dl.doubtnut.com/l/_uyUGmTzRZk6V
https://dl.doubtnut.com/l/_QVW30ziFBY8F
https://dl.doubtnut.com/l/_B4NMEiLrOgTo
https://dl.doubtnut.com/l/_DzchLVLyKE49

° Watch Video Solution

130. Write short note on Fragmentation.

° Watch Video Solution

131. Growth of follicles present in the ovary

occurs under the effect of This

follicle secretes estrogen. grows

/regenerates under the effect of estrogen.

Under the effect of fully grown up



https://dl.doubtnut.com/l/_DzchLVLyKE49
https://dl.doubtnut.com/l/_g81BptVjoF9I
https://dl.doubtnut.com/l/_w6NmrphngRXM

follicle  bursts, ovulation occurs and

is formed from remaining part

of follicle . It secretes and

Under the effect of these

hormones, glands of are

activated and it becomes ready for

implantation.

o Watch Video Solution

132. Read the paragraph and answer the

questions given below :


https://dl.doubtnut.com/l/_w6NmrphngRXM
https://dl.doubtnut.com/l/_wLN2dC95G67y

Reproduction is the process by which the
living Species continues its existence. Lower
organisms carry out asexual reproduction
while higher plants and animals always show
sexual reproduction. Plants reproduce
asexually by methods such as fragmentation,
vegetative propagation, budding, Spore
formation. For sexual reproduction they form
gametes. In animal kingdom, budding, fission
of different types and parthenogenesis are
some of the methods that do not require both
the sexes. Though regeneration also forms

new individual, it is not considered to be a


https://dl.doubtnut.com/l/_wLN2dC95G67y

reproductive process because. basically it is a
repair process. The ability to regenerate is lost
in higher phyla. In human beings it is
restricted only to wound healing. Sexual
reproduction is also undergoing lots of
experimentation such as cloning which may
make females capable of producing their own
baby without intervention of any male.

Answer the follolwing question.

How do living species continue their

existence?

o Watch Video Solution



https://dl.doubtnut.com/l/_wLN2dC95G67y

133. Read the paragraph and answer the
questions given below :

Reproduction is the process by which the
living Species continues its existence. Lower
organisms carry out asexual reproduction
while higher plants and animals always show
sexual  reproduction. Plants reproduce
asexually by methods such as fragmentation,
vegetative propagation, budding, Spore
formation. For sexual reproduction they form
gametes. In animal kingdom, budding, fission

of different types and parthenogenesis are


https://dl.doubtnut.com/l/_MOMo6XT7V88T

some of the methods that do not require both
the sexes. Though regeneration also forms
new individual, it is not considered to be a
reproductive process because. basically it is a
repair process. The ability to regenerate is lost
in higher phyla. In human beings it is
restrictced only to wound healing. Sexual
reproduction is also undergoing lots of
experimentation such as cloning which may
make females capable of producing their own
baby without intervention of any male.

Answer the follolwing question.


https://dl.doubtnut.com/l/_MOMo6XT7V88T

Which are asexual methods of reproduction in

kingdom Animalia?

o Watch Video Solution

134. Read the paragraph and answer the
questions given below :

Reproduction is the process by which the
living Species continues its existence. Lower
organisms carry out asexual reproduction
while higher plants and animals always show

sexual  reproduction. Plants reproduce


https://dl.doubtnut.com/l/_MOMo6XT7V88T
https://dl.doubtnut.com/l/_P6uNsFvtL4uc

asexually by methods such as fragmentation,
vegetative propagation, budding, Spore
formation. For sexual reproduction they form
gametes. In animal kingdom, budding, fission
of different types and parthenogenesis are
some of the methods that do not require both
the sexes. Though regeneration also forms
new individual, it is not considered to be a
reproductive process because. basically it is a
repair process. The ability to regenerate is lost
in higher phyla. In human beings it is
restricted only to wound healing. Sexual

reproduction is also undergoing lots of


https://dl.doubtnut.com/l/_P6uNsFvtL4uc

experimentation such as cloning which may
make females capable of producing their own
baby without intervention of any male.

Answer the follolwing question.

Why is regeneration not true method of

reproduction?

° Watch Video Solution

135. Read the paragraph and answer the
questions given below :

Reproduction is the process by which the


https://dl.doubtnut.com/l/_P6uNsFvtL4uc
https://dl.doubtnut.com/l/_LYPGVXhr23jI

living Species continues its existence. Lower
organisms carry out asexual reproduction
while higher plants and animals always show
sexual  reproduction. Plants reproduce
asexually by methods such as fragmentation,
vegetative propagation, budding, Spore
formation. For sexual reproduction they form
gametes. In animal kingdom, budding, fission
of different types and parthenogenesis are
some of the methods that do not require both
the sexes. Though regeneration also forms
new individual, it is not considered to be a

reproductive process because. basically it is a


https://dl.doubtnut.com/l/_LYPGVXhr23jI

repair process. The ability to regenerate is lost
in higher phyla. In human beings it is
restricced only to wound healing. Sexual
reproduction is also undergoing lots of
experimentation such as cloning which may
make females capable of producing their own
baby without intervention of any male.

Answer the follolwing question.

What are methods of reproduction in plants?

o Watch Video Solution



https://dl.doubtnut.com/l/_LYPGVXhr23jI

136. Read the paragraph and answer the
questions given below :

Reproduction is the process by which the
living Species continues its existence. Lower
organisms carry out asexual reproduction
while higher plants and animals always show
sexual reproduction. Plants reproduce
asexually by methods such as fragmentation,
vegetative propagation, budding, Spore
formation. For sexual reproduction they form
gametes. In animal kingdom, budding, fission

of different types and parthenogenesis are


https://dl.doubtnut.com/l/_j4A4NjH8KwCc

some of the methods that do not require both
the sexes. Though regeneration also forms
new individual, it is not considered to be a
reproductive process because. basically it is a
repair process. The ability to regenerate is lost
in higher phyla. In human beings it is
restrictced only to wound healing. Sexual
reproduction is also undergoing lots of
experimentation such as cloning which may
make females capable of producing their own
baby without intervention of any male.

Answer the follolwing question.


https://dl.doubtnut.com/l/_j4A4NjH8KwCc

What is the modern method of reproduction

aimed at in higher organisms?

° Watch Video Solution

137. Sketch and label diagrams.

I. Human male reproductive system ii. Human
female reproductive system

ii. Flower with its sexual reproductive system

iv. Menstrual cycle

° Watch Video Solution



https://dl.doubtnut.com/l/_j4A4NjH8KwCc
https://dl.doubtnut.com/l/_Lj1P6PylYL66
https://dl.doubtnut.com/l/_vWAKnY29fgWl

138. Sketch and label diagrams.

I. Human male reproductive system ii. Human
female reproductive system

ii. Flower with its sexual reproductive system

iv. Menstrual cycle

° Watch Video Solution

139. Sketch and label diagrams.
I. Human male reproductive system ii. Human

female reproductive system


https://dl.doubtnut.com/l/_vWAKnY29fgWl
https://dl.doubtnut.com/l/_NhpUcph2uH6q

ii. Flower with its sexual reproductive system

iv. Menstrual cycle

° Watch Video Solution

140. Sketch and label diagrams.

I. Human male reproductive system ii. Human
female reproductive system

ii. Flower with its sexual reproductive system

iv. Menstrual cycle

° Watch Video Solution



https://dl.doubtnut.com/l/_NhpUcph2uH6q
https://dl.doubtnut.com/l/_9uIe6AhwSVcF
https://dl.doubtnut.com/l/_aHmh6pQILWn9

141. Sketch the labelled diagrams:
Sketch and label the diagrm showing self and

cross-pollination.

° Watch Video Solution

142. Diagram-based questions:

What is the period or menstruation?

o Watch Video Solution



https://dl.doubtnut.com/l/_aHmh6pQILWn9
https://dl.doubtnut.com/l/_k7NSzVBp9det

143. Diagram-based questions:
On which day does ovulation occur during

menstrual cycle?

o Watch Video Solution

144. Diagram-based questions:
During which period is corpus luteum active
during menstrual cycle? Which hormones are

secreted by corpus luteum?

° Watch Video Solution



https://dl.doubtnut.com/l/_7GlLXH5apUZI
https://dl.doubtnut.com/l/_mrNOSTiRwC9m

145. Diagram-based questions:
In menstrual cycle which reproductive organs

undergo changes?

° Watch Video Solution

146. Diagram-based questions:
Which period is said to be period of

regeneration of endometrium?

° Watch Video Solution



https://dl.doubtnut.com/l/_mrNOSTiRwC9m
https://dl.doubtnut.com/l/_MtGIUaxFyX8g
https://dl.doubtnut.com/l/_JlDtio2Mchgl

147. Diagram-based questions:
Which period is said to be period of secretions

of glands in endometrium?

o Watch Video Solution

148. Diagram-based questions:

Describe the type of reproduction?

° Watch Video Solution



https://dl.doubtnut.com/l/_LEbMdMc1xvOh
https://dl.doubtnut.com/l/_qM98h7juxNJ4

149. "Gender of child is determined by the
male partner of couple)” Draw a diagram

explaining the above statement.

o Watch Video Solution

150. Prepare a slogan for campaign agains

female foeticide.

° Watch Video Solution



https://dl.doubtnut.com/l/_NFkvPPCO5v9y
https://dl.doubtnut.com/l/_cdZU1hmBJi9C

151. Diagram-based questions:
In the following figure explain how new fungal

colonies of mucor are formed:

Sporangium Spores

Sl
rr il

Sporangiophore

Rhizoids

o Watch Video Solution



https://dl.doubtnut.com/l/_mbvsZCyyDhZo

152. Diagram-based questions:
Identify and state the type of reproduction

represented in the above figure.

Sporangium Spores

Sporangiophore

Rhizoids

o Watch Video Solution



https://dl.doubtnut.com/l/_qTHVs07RIn0W

153. Diagram-based questions:
Write the answer to the questions

observing the figure

Ejaculatory duct
= Vas deferens

Cowper’s gland
C

Epididymis

Scrotum

What does the above figure show?

o Watch Video Solution



https://dl.doubtnut.com/l/_nMH1DF6q2f6F
https://dl.doubtnut.com/l/_V9oOLpvAGv3M

154. Diagram-based questions:
Write the answer to the questions

observing the figure

Ejaculatory duct
= Vas deferens

Cowper’s gland
C

Epididymis

Scrotum

Write the names of parts A, B, C, D.

° Watch Video Solution



https://dl.doubtnut.com/l/_V9oOLpvAGv3M
https://dl.doubtnut.com/l/_pzyzjfvITq8i

155. Diagram-based questions:
Write the answer to the questions

observing the figure

Ejaculatory duct
*— Vas deferens

Cowper’s gland
C

Epididymis

Scrotum

Write the function of the part 'D".

° Watch Video Solution



https://dl.doubtnut.com/l/_pzyzjfvITq8i

156. Diagram-based questions:
Write the answer to the questions

observing the figure

Ejaculatory duct
= Vas deferens

Cowper’s gland
C

Epididymis

Scrotum

How is semen formed?

o Watch Video Solution



https://dl.doubtnut.com/l/_uwlI0zXGxTOJ
https://dl.doubtnut.com/l/_tSv9PcBKVUpt

157. Diagram-based questions:
Write the answers to the questions by

observing the figure.

L

]
c —ﬂl"

-
=

What process does the following figure show?

o Watch Video Solution

158. Diagram-based questions:

Write the answers to the questions by


https://dl.doubtnut.com/l/_tSv9PcBKVUpt
https://dl.doubtnut.com/l/_jFL6WBRK0mKy

observing the figure.

Describe in short that process.

° Watch Video Solution

159. Diagram-based questions:
Write the answers to the questions by

observing the figure.


https://dl.doubtnut.com/l/_jFL6WBRK0mKy
https://dl.doubtnut.com/l/_bc2MgyPa7j6l

Who can benefit from thatr process?

° Watch Video Solution



https://dl.doubtnut.com/l/_bc2MgyPa7j6l

